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Paper : CS 604

Full Marks : 10O

Time : Three hours

The flgures ln the na.rgln lntdlcate
full marks for the questlons.

Ansuter ang firre questions.

Describe the Bresenham line drawing
algorithm. Using this algorithm, find the
pixels between the points (3,2) and (12,5).
Write the advantages and disadvantages of
the algorithm. 8+8+4

(a) Formulate the rotational matrix R(d)

Id is the rotational angle in anti-cloc]<wise
directionl. Hence find the coordinate
of the point (5, 0) after rotation, where
0 =-3O",

Contd.

s3 (cs 604l CPGR



EFff s o s
9^ Ii s E H tA /

$rg f 3 **;tr esg[ € 5HF'#s EElE; E[$r, E]

$rf,F*iFsg$[E$BIEsiE $,1 :$;Ii I IrIn1 rB;3 FftE Ia;3*s sIpr oie'
:- o .o x o 

= 
I F ; = i, H'uEtry I"eE $s+ 6

B,rFr IiCrr IHH H;

Ho
(,rl

(,l
q)

6a
ooc
o
"0o
ao

N

tresQi,$PtrS s o
o D p F o' 43.its pu s.*urPtFf n'[: *n'Eir'tXXl''+

*[iIH Fi[E *[ *$*

riE;u -i; Hg r:iEB.n: 3[3 pF ?[
E 5 -3E [: gEE rg€ trt ;qg * #''a .,9r[=n$ +Fr xH[FrE$f iE

(.rl
U)

aa
oto
iE
o
'Uo
fr
o

C^)

Flo

i

I:


